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1. PÎFÛÎFPáFP&F¶F ÛFWk õFW P=+ÎùUk ÑFFc̃ F ÒîXk =W+ H¸FÞ ¼UP¡FJ : 5×2=10

(=+) P=+ÎùUk ¼X ÑFFè˜FF¶ÜF ÎFFÞUæFF¼U PæF˜FFÞ=+Xk =W+ ÎFFÛF PáFP&FJ—

(&F) Pùk¼U èFÙ¼=+XèF ÛFWk i¼PáF¶Fj èFÙ¼ =+F E»Fa ƒÜFF ùY?

(;F) iÛF[=+ÎFFÜF=+j ÑFP·F=+F =+F Ò=+FèFÎF P=+õFÎFW EFYÞ =+ÙF P=+ÜFF »FF?

(fF) PùÎ¼U ÛFWk ÞP˜F¶F i¼PáF¶F õFFPù¶ÜF =+F õFFYk¼ÜFaèFFõ·Fj P=+õF=+U Þ˜FÎFF ùY? GõF=+F Ò=+FèFÎF =+ÙF CEF?

(‘~) iõFF¶F ÚFFGÜFXk =W+ ÙFU˜F ˜FkÑFFj JæFk iÛFYk P=+õF=+U EFYÞ¶F Dcj =W+ Þ˜FÎFF=+FÞXk =W+ ÎFFÛF PáFP&FJ—

(˜F) iæÜFPƒ¶F¶æF =+U ÚF[&Fj JæFk i¼PáF¶F PæFÛFèFaj =W+ Þ˜FÎFF=+FÞ =+FYÎF ùYk?



(š) EXÛFÒ=+FèF ÙFFáÛFUP=+ =W+ P=+ÎùUk ¼X Þ˜FÎFFEXk =W+ ÎFFÛF PáFP&FJ—

(¡F) P=+ÎùUk ¼X EFP¼æFFõFU Þ˜FÎFF=+FÞXk =W+ ÎFFÛF PáFP&FJ—

2. PÎFÛÎFPáFP&F¶F ÛFWk õFW P=+ÎùUk ˜FFÞ ÑFÞ P©ÑÑFµFU PáFP&FJ : 5×4=20

(=+) õ·FU-PæFÛFèFa =+U EæFÍFFÞµFF

(&F) ¡ÜFXP¶FÙFF ×[+áFW =+U PæF˜FFÞÍFFÞF

(;F) ÛFùF¼WæFU æFÛFFa =+U õ·FU-˜FW¶FÎFF

(fF) õFXÎFæFF =+F PÑFk¡FÞF =+F ÛF]&ÜF ÒP¶FÑFFÃ

(‘~) ÛF]¼aPùÜFF ÛFWk ¼PáF¶F-¡FUæFÎF =+F ÜF»FF»Fa

(˜F) EFP¼æFFõFU PæFÛFèFa =+F õæFàÑF

3. PÎFÛÎFPáFP&F¶F ÛFWk õFW P=+ÎùUk ¶FUÎF ÒèÎFXk =W+ H¸FÞ PáFP&FJ O 10×3=30

(=+) ¼PáF¶F PæFÛFèFa =+U EæFÍFFÞµFF =+X õÑFñ =+Þ¶FW ù]J Pùk¼U ¼PáF¶F õFFPù¶ÜF ÑFÞ EkÙFW°=+ÞæFF¼U
PæF˜FFÞÍFFÞF =W+ ÒÚFFæF ÑFÞ ˜F˜FFa =+UP¡FJ— EkÙFW°=+Þ =W+ PæF˜FFÞÍFFÞF ÑFÞ Ò=+FèF °FPáFJ—

(&F) iÛF]Pƒ¶FÑFæFaj HÑFÎÜFFõF =W+ ÒP¶FÑFFÃ ÑFÞ PæF˜FFÞ =+UP¡FJ—

(;F) i¼PáF¶F =+ùFk ¶F=+ ÑF°sW ÞùWk;FWj =+PæF¶FF =+F ÛF[áF ÚFFæF õÑFñ =+UP¡FJ—

(fF) i&F]¼F =+U æFFÑFõFUj =+ùFÎFU =W+ =+»FFÎF=+ =+U õFÛFU‡FF =+UP¡FJ—

(‘~) iæÜFPƒ¶F¶æF =+U ÚF[&Fj =W+ EFÍFFÞ ÑFÞ õ·FU-¡FUæFÎF =W+ õF¶ÜF =+X H¼hfFFP©¶F =+UP¡FJ—

(˜F~) õ·FU ÛF]Pƒ¶F =W+ EFáFX=+ ÛFWk iõFF¶F ÚFFGÜFXk =W+ ÙFU˜F ˜FkÑFFj èFUðFa=+ =+PæF¶FF =+F ÛF[áÜFFk=+ÎF =+UP¡FJ—




